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program area_of_circle
implicit none
real(8) :: r, pi
real(8) :: Base, Height
intrinsic atan, sin, cos

pi = 4D0 * atan(1DO)

write(*, *) 'Hankei?'

read(*, *) r

Base = r * cos(pi * 30 / 180) * 2

Height = r * sin(pi * 30 / 180) + r

write(*, '(A10 F5.2)') 'Menseki :', Base * Height / 2
stop
end program




program samplel
implicit none
integer :: i, j, n
intrinsic dble

I Input N
write(*, *) 'Enter N :'

read(*, *) n FRoERBARUKEN S

! Check the value of N

if (n <= o) then  |NDIGBOLUNGNE NN

write(*, *) 'Error: N must be > 0’ I Wrong value
else

! Print out i *
doi=1,n
do j =1, n
write(*, *) i, j = ', dble(i) / dble(3j)
end do
end do
end if
stop
end program
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program pillar

implicit none

integer :: prob

write(*, *) 'Probability of the rain: '
read(*, *) prob

if (prob >= 50) then

write(*, *) "May be it will rain.”

write(*, *) "Don't forget to bring an umbrella!"
end if

stop
end program
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if (prob >= 50) then

write(*, *) "May be it will rain."

write(*, *) "Don't forget to bring an umbrella!"”
else

write(*, *) "May be it will not rain."

write(*, *) "You may go without an umbrella.™
end if
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if (prob >= 70) then
write(*, *) "Don't forget to bring an umbrella!"
else
if (prob >= 50) then
write(*, *) "You should bring an umbrella."
else
if (prob >= 30) then
write(*, *) "You may go without an umbrella."
else
write(*, *) "You don't need an umbrella."
end if

end if -
end if if (prob >= 70) then

write(*, *) "Don't forget to bring an umbrella!"
else if (prob >= 50) then

write(*, *) "You should bring an umbrella."
else if (prob >= 30) then

write(*, *) "You may go without an umbrella."”
else

write(*, *) "You don't need an umbrella."
end if
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if ( prob < © .or. prob > 100 ) then
write(*,*) "Error: Wrong probability ", prob
stop

else if (prob >= 70) then
write(*,*) "Don't forget to bring an umbrella!"”

else if (prob >= 50) then

write(*,*) "You should bring an umbrella."
else if (prob >= 30) then

write(*,*) "You may go without an umbrella."”
else

write(*,*) "You don't need an umbrella."”
end if




BKFESRN 0 K5 F/=(d 100 KD KSEFVWEETS—

if ( prob >= © .and. prob <= 100 ) then
if (prob »>= 70) then
write(*,*) "Don't forget to bring an umbrella!"
else if (prob >= 50) then
write(*,*) "You should bring an umbrella."
else if (prob >= 30) then
write(*,*) "You may go without an umbrella."”

else
write(*,*) "You don't need an umbrella."
end if
else
write(*,*) "Error: Wrong probability ", prob
stop
end if
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select case(prob)
case(70:100)

write(*, *) "Don't forget to bring an umbrellal!”
case(50:69)

write(*, *) "You should bring an umbrella."
case(30:49)

write(*, *) "You may go without an umbrella."
case(0:29)

write(*, *) "You don't need an umbrella.”
case default

write(*, *) "Error: Wrong probability ", prob

stop
end select
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$ ./test

Input data 1:
10

Input data 2:
4

Input data 3:

8

Input data 4:
16

Input data 5:
22

Total is 60




program sum
implicit none write(*, *) 'Input data 4:'
integer :: total, data read(*, *) data
total = total + data
total = @ ! Initialize write(*, *) 'Input data 5:'
write(*, *) 'Input data 1:' read(*, *) data
read(*, *) data total = total + data

total = total + data

write(*, *) 'Input data 2:' write(*, *) 'Total is ', total
read(*, *) data

total = total + data stop

write(*, *) 'Input data 3:' end program

read(*, *) data

total = total + data

HFE DIRERITIITRN
T—IDENELRBDETOAUSLADANPESHAINKE
T—HDENEDBDE(CTOUS LZZEE URITNULIRS /RN




i Z 1S 5 FT 1D9 DIE»PULRNS
O35 LD E&EiEDIRT

program sum
implicit none
integer :: total, i, data

total = 0 ! Initialize

doi=1,5
write(*, *) 'Input data ', i, ':'
read(*, *) data
total = total + data

end do

write(*, *) 'Total is ', total

stop
end program




doi=1,5
write(*, *) 'Input data ', i,
read(*, *) data
total = total + data

end do

write(*, *) 'Input data ', 1,
read(*, *) data
total = total + data

write(*, *) 'Input data ', 2,
read(*, *) data
total = total + data

write(*, *) 'Input data ', 5,
read(*, *) data
total = total + data
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program sum
1l implicit none
integer :: total, i, data, n

total = @ ! Initialize
write(*, *) 'Input number of data :
read(*, *) n

doi=1,n
write(*, *) 'Input data ',
read(*, *) data
total = total + data

end do

write(*, *) 'Total is ', total

stop
end program
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doi=1, 5
write(*, *) 'Input data ',
read(*, *) i

total = total + i
end do




end do ORDUIB(CFED

doi=1,5
write(*, *) 'Input data ', i, ':'
read(*, *) data

exit
end if

if (data < 0) then}

total = total + data
end do
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program sum
implicit none
integer :: total, i, data, n

total = @ ! Initialize
write(*, *) 'Input number of data :
read(*, *) n if (n > @) then
if (n > 0) then doi=1,n
doi=1,n write(*, *) 'Input data ',i,':"’
write(*, *) 'Input data ', i, ':°’ read(*, *) data
read(*, *) data total = total + data
total = total + data end if
end do end do
i O — N =
end if t hb\ﬁiﬁ&(’\ ?
write(*, *) 'Total is ', total
stop
end program




Sftaimic 9k, BoiRL

program sum
implicit none
integer :: total, data, i

| Initialize
total = 0
i=1

do while (total < 100)

write(*, *) 'Input data ', i,
read(*, *) data
total = total + data
i=1+1
end do
write(*, *) 'Total is ', total, ' , Number of items is ', i
stop
end program
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do while (i <= 100)
i=1+1

write (*, *) i

end do 101 [, RR"SNDM?
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program to_real
implicit none
integer :: i, j
intrinsic dble

doi=1, 10
do j =1, 10

write(*, *) i, '/', j, ' = ', dble(i) / dble(3)
end do
end do

stop
end program
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program samplel
implicit none
integer :: i, j, n

write(*, *) 'Enter N :'
read(*, *) n
.
if (n <= @) then
| write(*, *) 'Error: N must be > €'
else
doi=1, n
do j =1, n
|wr'ite(*, ¥) i, " * ', 5, =, 1%
end do
end do
end if
o
stop
end program
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program samplel
implicit none
integer :: i, j, n

program samplel
implicit none
integer :: i, j, n

write(*, *) 'Enter N :'

read(*, *) n

if (n <= 0) then

write(*, *) "Error: N must be > 0'
else

write(*, *) 'Enter N :'
read(*, *) n
if (n <= @) then
write(*, *) 'Error: N must be > 0
else
doi=1,n
do j =1, n
write(*, *) i, ' * ', j
end do
end do
end if
stop
end program

doi=1,n

do j =1, n

write(*, *) i, ' * ', j
end do

end do

end if

stop

end program
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I Input N
write(*, *) 'Enter N :'
read(*, *) n

| Check the value of N

if (n <= 0) then

write(*, *) 'Error: N must be > 0’ I Wrong value
else

I Print out 1 * j for all (1 <= i,j <= N )
doi=1,n
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